Riddle: What can you catch but not throw?
Copy in your math journal

Ten

Twenty
Thirty
Three Forty
Fifty
Sixty

Tw

O

Thousand

Seventy
Eighty
Ninety

Hundred




Riddle:
Where can
elURilsle
cities, towns,

shops, and
streets but
no people?




Riddle: What
has a neck

but no head?

20
+ 50

40

+ 40

10

+ 40



Riddle: What

happens once

in a lifetime,
twice in a

moment, but
never |n one
hundred

years?

2+42=

3+3=

13+13 =

10+ 10 =

12+ 12 =

5+5=

8+8=

14+ 14 =

4+ 4=

11+11 =

6+6=

13+13 =

4+44=

15+15=

10+10=

7+7=

12+12 =

8+8=



Riddle: What
becomes
wetter the
more It
dries?

2+42=

3+3=

13+13 =

10+ 10 =

12+ 12 =

5+5=

8+8=

14+ 14 =

4+ 4=

11+11 =

6+6=

13+13 =

4+44=

15+15=

10+10=

7+7=

12+12 =

8+8=



Riddle: What
word is
spelled

wrong in the
dictionary?

14+ 14 =

8+8=

11+11 =

3+3=

5+5=

4+ 4=

7+7=

15+ 15=

6+6=

2+2=

10+ 10 =

13+13 =

10+ 10 =

6+6=

4+4=

5+5=

8+8=

15+ 15 =



11+ 11 = 1+1= 14 + 14 =
Riddle: What
doesn’t clap?
Solution:

74+7= 6+6= 12+ 12 =

8+8= 13+ 13 = 5+5=

14 + 14 = 9+9= 11+ 11 =



10less than 76 is
10 less than
10 less than
10 less than
10 less than
10 less than

Riddle: What is 10 less than
always in front of 10 less than

’ 10 less than
v bUt cant be 10 less than

Seen? 10 less than

solution: 10 less than

10 less than
10 less than
10 less than
10 less than
10 less than
10 less than
10 less than
10 less than




10 more than 88 is - 88+10=

10 more than 12 is - 12+10=
10 more than 10 is - 10+10=
10 more than 30 is - 30+10=
10 more than 40 is - 40+10=
10 more than 80 is - 80+10=
10 more than 19 is - 19+10=
10 more than 41 is - 41+10=
10 more than 71 is - 71+10=
10 more than 65 is - 65+10=
10 more than 84 is - 84+10=
10 more than 28 is - 28+10=
10 more than 27 is - 27+10=
10 more than 31 is - 31+10=

Riddle: What
answer can

yOu never
answer yes to?




Riddle: I'm tall when I’'m young, and I’'m short when I’'m old, what am |?

10 more than 38 is -
10 more than 66 is -
10 more than 78 is -
10 more than 12 is -
10 more than 34 is -
10 more than 27 is -
10 more than 90 is -
10 more than 89 is -
10 more than 88 is -
10 more than 12 is -
10 more than 10 is -
10 more than 30 is -
10 more than 40 is -



Riddle: What
begins with
ishes

T fi

A

with T

, d

hasTm

nd

1t?

10 more than 19 is - 19

10 more than 18 is -

10more than 13 is -

10 more than 23 is -

10 more than 76 is -

10 more than 42 is -

10 more than 17 is -

10 more than 29 is -

10 more than 92 is -

10 more than 95 is -

10 more than 99 is -

10 more than 38 is -

10 more than 46 is -

10 more than 53 is -

10 more than 81 is -

10 more than 64 is -




10 less than 17 is 17-10=7
10 lessthan 21is 21-10=11
10 lessthan 24 is 24-10 =
10 lessthan 71is

10 lessthan 87 is

10 lessthan 43is

10 lessthan 83 is

10 less than 48is

10 less than 98 is

10 lessthan 76 is

10 lessthan 20is

10 lessthan 40is

10 less than 50 is

10 lessthan 80is

10 lessthan 90is

10 less than 100 is

10 less than 60 is

10 lessthan 10is

10 lessthan 45is

10 lessthan 97is

Riddle: | am an
odd number. Take
away a letter and

| become even.

What number am
|?
Solution:




